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All India Mock Test for FCI AGM 2021 PDF 
 

Directions (1-5): Read the following information carefully and answer the questions given below it. 

 

Eight persons R@, R#, R$, R&, R%, R*, R© and RΩ are sitting around a hollow circular table such that 

R&, R$, R# and RΩ sit on the inner side of the table and the rest are sitting on the outer side of the 

circular table and they all are facing away from the center. The persons sitting on the inner side of the 

circular table are sitting just behind the persons sitting on the outer side of the circular table and all 

are graduated from different universities i.e. HTS, UGI, LPU, HNB, KPJ, UPI, NIT and FPT. All the 

information is not necessarily in the same order.  

The one who is graduated from KPJ sits just behind the one who sits second to the left of the one who 

is graduated from UPI. RΩ sits just behind the R*. R% who is graduated from UGI sits opposite to the 

one who sits at the immediate left of R©. R& is not graduated from FPT. The one who is graduated 

from HTS sits at the immediate left of the one who is graduated from LPU. The one who is graduated 

from KPJ sits just behind the R©. RΩ sits at the immediate right of R&. The persons who are 

graduated from FPT and HNB are sitting on the same table and sit opposite to each other. R& sits just 

behind the one who is graduated from UGI. R$ is not graduated from FPT. 

 

Q1. Who among the following is graduated from HTS? 

(a) R@ 

(b) RΩ 

(c) R& 

(d) R# 

(e) None of these 

 

Q2. Which among the following statement is not true?  

(a) RΩ is graduated from NIT  

(b) R$ sits just behind the one who is graduated from LPU 

(c) R# is graduated from FPT 

(d) R% sits at the outer circular table 

(e) All are true 

 

Q3. How many persons are sitting between R* and R% when 

counted from right of R*? 

(a) One 

(b) Two 

(c) None 

(d) None of these 

(e) Can’t be determined 
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Q4. Four of the following five are alike in a certain way and hence form a group, which of the 

following does not belong to the group? 

(a) R% 

(b) R© 

(c) R* 

(d) RΩ 

(e) R@ 

 

Q5. Who among the following is sitting third to the right of the one who is sitting just behind the R©? 

(a) The one who is graduated from KPJ 

(b) R& 

(c) The one who is sitting at the immediate left of R$ 

(d) RΩ 

(e) None of these 

 

Directions (6-7): In making decisions about important questions, it is desirable to be able to 

distinguish between ‘strong’ arguments and ‘weak’ arguments. 'Strong’ arguments are those which 

are important and directly related to the question. ‘Weak’ arguments are those which are of minor 

importance and also may not be directly related to the question or may be related to a trivial aspect of 

the question. Each question below is followed by two arguments numbered as I and II. You have to 

decide which of the arguments a strong argument is and which a weak argument is.  

Give answer  

 

Q6. Statement:  

Should the provision to dissolve the assembly prematurely be amended ?  

Arguments:  

I. Yes, on many occasions the provision has been used by ruling governments to fulfill their vested 

interests.  

II. No, to fulfil the constitutional obligations and norms, it sometimes becomes the need of the hour 

to dissolve the assembly prematurely.  

(a) if only Argument I is strong  

(b) if only Argument II is strong  

(c) if either Argument I or II is strong  

(d) if neither Argument I nor II is strong  

(e) if both Argument I and II are strong  

 

Q7. Statement: Should only reputed NGO’s be authorized to distribute the commodities to the public 

under the programme of Public Distribution System (PDS)?  

Arguments:  

I. Yes, the move will be helpful to implement the programme more effectively and will keep a tab on 

various problems like black marketing of the commodities supplied under PDS.  

II. Yes, NGO’s have helped government on many occasions 
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(a) if only Argument I is strong  

(b) if only Argument II is strong  

(c) if either Argument I or II is strong  

(d) if neither Argument I nor II is strong  

(e) if both Argument I and II are strong  

 

Directions (8-12): Study the following information carefully to answer the given questions. 

 

In a certain code language: 

“authority brings views secondary” is coded as “B6 H9 H18 B22” 

“situation necessity belonging deny ” is coded as “ B22 T22 B22 M18” 

“nature hopes review happily” is coded as “ V26 H12 D22 B26” 

“wages prepared sight fuse” is coded as “ H26 G18 V6 W9” 

 

Q8. What is the code for the word “tabling”? 

(a) T26 

(b) G14 

(c) Y13 

(d) O26 

(e) None of these 

 

Q9. Which of the following words could be coded as “H24 D18”? 

(a) prey pray 

(b) scenario view 

(c) deprived nuclear 

(d) fix joint 

(e) None of these 

 

Q10. What is the code for the word “humanity practice”? 

(a) K12 M22 

(b) None of these 

(c) G12 F12 

(d) B5 B10 

(e) V9 B6 

 

Q11. Which of the following is correctly matched? 

(a) moment catch-‘G12 G26’ 

(b) provoke badly- ‘E9 B26’ 

(c) kindness valued-‘H18 E26’ 

(d) universal norms –‘O13 H12’ 

(e) kingdom dreams-‘ 
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Q12. Which of the following words could be coded as “D12 M26”? 

(a) dare dreams 

(b) pink sky 

(c) wonder land 

(d) marry wonder 

(e) None of these 

 

Q13. Which of the following techniques can be used to store a large number of files in a small amount 

of storage space?  

(a) File adjustment 

(b) File copying 

(c) File compatibility 

(d) File compression 

(e) None of these 

 

Q14. Which among the following is software application commonly used to prepare a 

presentation/slide show? 

(a) Adobe 

(b) Power Point 

(c) Outlook Express 

(d) Internet Explorer 

(e) Windows Explorer 
 

Directions (15-18): Study the following information carefully and answer the questions given below: 
 

In each of the questions below are given some statements followed by some conclusions. You have to 

take the given statements to be true even if they seem to be at variance with commonly known facts. 

Read all the conclusions and then decide which of the given conclusions logically follows from the 

given statements disregarding commonly known facts. 
 

Q15. Statements:  
Only a few Pizza are Burger.  

Only a few Burger are Maggie.  

All Maggie are Momo’s. No Pasta is Maggie.  
Conclusions: 

I. Some Maggie are not Burger.  

II. Some Pizza are not Pasta.  

III. Only a few Pizza are Maggie.  

(a) If only conclusion I and II follows 

(b) If only conclusion II follows 

(c) If either conclusion II or III and I follows 

(d) None follows 

(e) None of these 
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Q16. Statements:  

Only a few Bank are Account.  

Few Current are Saving.  

All Account are Saving.  

Some FD are not Account.  

Conclusions: 

I. Some Account can be FD.  

II. Some Saving are not FD.  

III. All Bank being Account is a possibility.  

(a) If only conclusion I and II follows 

(b) If only conclusion II and III follows 

(c) If only conclusion I follows 

(d) All I, II and III follow 

(e) None Follow 

 

Q17. Statements:  

Only Vertical is Circle.  

Some Vertical are not Square.  

All Square are Triangle.  

Conclusions: 

I. Some Circle can be Triangle.  

II. All Square being Vertical is a possibility.  

III. Only a few Vertical is Triangle.  

(a) If only conclusion I and II follows 

(b) Only II 

(c) If only conclusion I follows 

(d) All I, II and III follow 

(e) None Follow 

 

Q18. Statements:  

Only a few Pizza are Pasta.  

Only a few Pasta are Maggie.  

All Maggie are Momo’s.  

No Burger is Maggie.  

Conclusions: 

I. Some Momo’s are not Pasta.  

II. Some Pasta are not Maggie.  

III. All Momo’s being Burger is a possibility.  

(a) If only conclusion I and II follows 

(b) If only conclusion II and III follows 

(c) If only conclusion I follows 

(d) All I, II and III follow 

(e) None of these 
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Directions (19-23): Study the following information carefully and answer the questions given below: 

 

Six Couples i.e. A, B, C, D, E, F, P, Q, R, S, T and U get married in three different months viz. April, 

August and October, but not necessarily in the same order. They get married on 2 different dates viz. 

5 and 28. Each of the six couple get married on six different dates. 

There are three couples get married between F’s husband and Q’s Wife. R get married before Q. C 

was married with T on an even numbered date. There are two couples get married between E’s 

husband and B’s wife. E’s husband get married before B’s wife. T was not a male. D is the husband of 

S. The number of couples get married after S is same as the number of couples get married before U’s 

husband. E’s husband get married before P and after A.  

 

Q19. How many couples get married before R’s wife? 

(a) Two 

(b) Four 

(c) Three 

(d) Five 

(e) None  

 

Q20. Who among the following get married on 5th October? 

(a) Q 

(b) B 

(c) U’s husband  

(d) Either (a) or (c) 

(e) Both (a) and (c) 

 

Q21. Which of the following pair of husbands get married in the same month? 

(a) D,R 

(b) Q,C 

(c) Q,R 

(d) R,C 

(e) None of these 

 

Q22. Four of the following five are alike in a certain way and hence they form a group. Which one of 

the following does not belong to that group? 

(a) F 

(b) E 

(c) T 

(d) U 

(e) C 
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Q23. Who among the following not get married in the month which has 30 days? 

(a) S  

(b) R 

(c) A 

(d) F 

(e) D 

 

Directions (24-25): In each of the following questions, a statement is given followed by two 

conclusions numbered I and II.  

Give answer 

 

Q24. Statement:  

‘We follow some of the best and effective teaching learning practice used by leading institutes all over 

the world’. – A statement of a Professor of MN. Institute.  

Conclusions:  

I. The M.N. Institute is one of the leading institutes of the world  

II. Whatever is being followed by world’s leading institutes will definitely be good and useful.  

(a) if only conclusion I follows 

(b) if only conclusion II follows 

(c) if either I or II follows 

(d) if neither I nor II follows; and  

(e) if both I and II follow  

 

Q25. Statement:  

Mr. X is one of the probable candidates short-listed for the post of Director of K.L.M. Institute.  

Conclusion  

I. Mr. X will be selected as Director of K.L.M. Institute.  

II. Mr. X will not be selected as Director of K.L.M. Institute. 

(a) if only conclusion I follows 

(b) if only conclusion II follows 

(c) if either I or II follows 

(d) if neither I nor II follows; and  

(e) if both I and II follow  
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Directions (26-29): Study the bar chart given below carefully and answer the following questions. 

 

Bar chart shows percentage increase in buying price and in selling price of one share of RIL as 

compared to its respective buying price and selling price in the previous month. 
 

 
 

Note – Buying price of 1 share of RIL in Januray is Rs.50000 and selling price of 1 share of RIL in 

Januray is Rs.50000. Buying price/selling price of 1 share of RIL in every month remains uniform 

throughout the month.  

 

Q26. Shivam purchased two shares of RIL: one in February and other in March. If he  

sold both shares of RIL in April, then find the total profit earned by Shivam? 

(a) Rs 58700 

(b) Rs 52500 

(c) Rs 42600 

(d) Rs 46800 

(e) Rs 49400 

 

Q27. In the month of March, Deepak and Mohit purchased total 10 shares of RIL and ratio of shares 

of RIL bought by Deepak to that by Mohit is 3 : 2. If both Deepak and Mohit sold their shares of RIL 

in May, then find the difference in profit share of Deepak and Mohit. 

(a) Rs 50760 

(b) Rs 53280 

(c) Rs 51680 

(d) Rs 52360 

(e) Rs 52580 
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Q28. Selling price of 1 share of RIL in April is what percent more than buying price of 1 share of RIL 
in March? 

(a)  

(b)  

(c)  

(d)  

(e)  
 
Q29. Find the ratio between selling price of 1 share of RIL in April to buying price of 1 share of RIL in 
March? 
(a) 13 : 11 
(b) 130 : 109 
(c) 143 : 115 
(d) 69 : 64 
(e) 151 : 117 
 
Q30. Maanik and Shivam entered into a partnership by investing Rs.20000 and Rs.32000 respectively. 
After 4 months, Maanik increased his investment by 50% and after another 6 months Shivam 
increased his investment by 25%. If at the end of the year Shivam got a profit of Rs.30000, then find 
total profit? 
(a) Rs.80000 
(b) Rs.77000 
(c) Rs.54000 
(d) Rs.93000 
(e) Rs.12000 
 
Q31. Marked price of an article is 25% more than its selling price and ratio of cost price and selling 
price of the article is 5 : 6 respectively. If discount percentage is double up, then a loss of 240 Rs. 
occur. Find the mark up price of article?  
(a) 3000 Rs. 
(b) 3600 Rs. 
(c) 4200 Rs. 
(d) 4500 Rs. 
(e) 3200 Rs. 
 
Q32. Ratio of Anurag’s age four years later to Bhavya’s age six years later is 2 : 1. Another person 
Chiru whose present age is twice of the sum of present ages of Anurag and Bhavya and ratio of 
Chiru’s age 4 years later to Bhavya’s age 4 years later is 23 : 4. Find the present age of Bhavya ?  
(a) 16 years 
(b) 10 years 
(c) 15 years 
(d) 12 years 
(e) 18 years 
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Q33. Diagonal of a square is equal to diameter of a circle. Area of circle is 1232 sq.cm. A cube is 

formed using the square as face of cube. This cube is melted and recast to form a cylinder of radius 28 

cm. find height of cylinder thus formed. (approx.) 

(a) 9 cm 

(b) 12 cm 

(c) 7 cm 

(d) 14 cm 

(e) 17 cm 

 

Q34. Ratio of quantity of milk to that of water in the mixture is 2: 5. When x lit of milk is added to the 

mixture, ratio of milk to water becomes 2: 3 and when 20 lit of water is further added to the mixture, 

ratio of milk to that of water becomes 1: 2. Find the value of x? 

(a) 20 lit 

(b) 16 lit 

(c) 18 lit 

(d) 24 lit 

(e) 12 lit 

 

Q35. Shivam alone can do a work in 12 days and Maanik alone can do it in 15 days. Both started the 

work together and after working for 4 days, Shivam left the work. After 2 more days, Veer joins 

Maanik and the whole work is completed in 2 days more than the time taken by Shivam and Maanik 

together to do that work. Find the time taken by Veer alone to do that work?  

(a) 36 days 

(b) 24 days 

(c) 30 days 

(d) 27.5 days 

(e) 20 days 

 

Directions (36-39): Each of the following question is followed by two quantities I, and II. You have to 

determine the value of the quantities using the information provided and accordingly compare the 

quantities. Mark your answer as per the instruction set provided below. 

 

Q36. Quantity I: Time taken by Prabhas to cover a distance of 200 km (without stoppage) by car 

through which he covers a distance of 100 km in 1 hour when he stops to get fuel for 10 minutes. 

Quantity II: Time taken by Nagarjuna to travel 20 km downstream if speed of boat and speed of 

stream be 7 kmph & 3 kmph respectively. 

(a) Quantity I>Quantity II 

(b) Quantity I≥Quantity II 

(c) Quantity I<Quantity II 

(d) Quantity I≤Quantity II  

(e) Quantity I=Quantity II or no relation 
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Q37. There are 3 red and 5 blue balls in the urn. 
Quantity I: the probability of drawing 1 red ball and 2 blue balls. 
Quantity II: the probability of drawing 2 red balls and 1 blue ball. 
(a) Quantity I>Quantity II 
(b) Quantity I≥Quantity II 
(c) Quantity I<Quantity II 
(d) Quantity I≤Quantity II  
(e) Quantity I=Quantity II or no relation 
 
Q38. In how many ways can 4 boys or 5 girls be selected? 
Quantity I: there are 20 persons (boys and girls only) in the group out of which 12 are boys. 
Quantity I: the group comprises 10 boys and 10 girls. 
(a) Quantity I>Quantity II 
(b) Quantity I≥Quantity II 
(c) Quantity I<Quantity II 
(d) Quantity I≤Quantity II  
(e) Quantity I=Quantity II or no relation 
 
Q39.  

  
(a) Quantity I>Quantity II 
(b) Quantity I≥Quantity II 
(c) Quantity I<Quantity II 
(d) Quantity I≤Quantity II  
(e) Quantity I=Quantity II or no relation 
 
Directions (40-45): Read the given below table carefully to answer the following questions. 
 
Table gives information of panchayat elections held in five villages (A, B, C, D and E).  
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Q40. Find the ratio of invalid votes of village A to that of village 

D. 

(a) 3 : 5 

(b) 1 : 3 

(c) 6 : 7 

(d) 4 : 5 

(e) None of the above. 

 

Q41. Find the approximate difference between average of valid 

votes of village B and E and average of total votes polled in 

village A, B and D. 

(a) 13000 

(b) 12900 

(c) 12300 

(d) 12500 

(e) 12800 

 

Q42. Invalid votes of village B & C together is what percent of total votes polled in village C & E 

together? 

(a)  

(b)  

(c)  

(d)  

(e)  

 

Q43. Difference between valid votes and invalid votes of village E is approximately what percent of 

total votes available in village A? 

(a) 67% 

(b) 58% 

(c) 54% 

(d) 62% 

(e) 60% 

 

Q44. Find the invalid votes in village C & D together is approximately what percent more or less than 

the invalid votes in village A, B & E together? 

(a) 17% 

(b) 21% 

(c) 7% 

(d) 14% 

(e) 11%. 
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Q45. Find the ratio of total votes polled in village A & C together to total votes polled in village B & D 

together.  

(a) 21 : 19 

(b) 15 : 17 

(c) 19 : 21 

(d) 17 : 15 

(e) 19 : 23 

 

Q46. Which of the following state started ‘Digital Seva Setu’ to offer public welfare services online? 

(a) Gujarat 

(b) Haryana 

(c) Uttar Pradesh 

(d) Madhya Pradesh 

(e) Odisha 

 

Q47. Which of the following First bank starts to offer Debit card to Customers availing Loan Against 

Securities (LAS)? 

(a) HDFC 

(b) SBI 

(c) YES 

(d) ICICI  

(e) PNB 

 

Q48. What is the currency of Thailand? 

(a) Thai Baht 

(b) Euro 

(c) Rial 

(d) Thai dollar 

(e) Thai rupiya 

 

Q49. What is the rank of India on IMD's World Competitiveness Index 2021? 

(a) 12 

(b) 43 

(c) 56 

(d) 72 

(e) 168 

 

Q50. Name the digital lending platform recently launched by IndusInd Bank. 

(a) IndusStack Credit 

(b) IndusBack Credit 

(c) IndEasy Credit 

(d) IndusEasy Credit 

(e) IndStack Credit 
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Q51. Which of the following state launched ‘DISHTAVO’ - Online E – learning Platform? 

(a) Maharashtra  

(b) Kerela 

(c) Karnataka 

(d) Goa 

(e) Rajasthan 

 

Q52. World Habitat day observed on- 

(a) 4th october 

(b) 5th october 

(c) 6th october 

(d) 7th october 

(e) None of these 

 

Q53. The Onges tribes is indigenous to which of the following regions of India? 

(a) Manipur 

(b) Jharkhand 

(c) Tripura 

(d) Andaman and Nicobar Islands 

(e) Lakshadweep 

 

Q54. In Banking terminology, ‘open offer’ refers to ______.  

(a) A legal document that allows someone else to act on your behalf. 

(b) A share which entitles the holder to a fixed dividend, whose payment takes priority over that of 

ordinary share dividends 

(c) An exit route that is given to the existing shareholders by the acquirer of shares through a public 

announcement. 

(d) A public officer constituted by law to serve the public in non-contentious matters usually 

concerned with estates, deeds, powers-of-attorney, and foreign and international business. 

(e) An issue of shares offered at a special price by a company to its existing shareholders in 

proportion to their holding of old shares. 

 

Q55. What is a Margin Call? 

(a) Written authorization by a person, group, or organization (the ‘mandator’) to another (the 

‘mandatary’) to take a certain course of action. 

(b) The suspension of repayment of DEBT, or INTEREST, for a specified period of time. 

(c) A broker’s demand on an investor using margin to deposit additional money or securities so that 

the margin account is brought up to the minimum maintenance margin 

(d) The lending of small amounts of money at low interest to new businesses. 

(e) None of the above 

 



15 
Adda247 | No. 1 APP for Banking & SSC Preparation 

Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q56. “Believe - What Life and Cricket Taught Me” is the autobiography of which of the following 

cricketer? 

(a) Yuvraj Singh 

(b) Gautam Gambhir 

(c) Harbhajan Singh 

(d) Suresh Raina 

(e) Zaheer Khan 

 

Q57. Raja parba festival is celebrated in which of the following state? 

(a) Gujarat 

(b) Karnataka 

(c) Odisha  

(d) Kerala 

(e) West Bengal 

 

Q58. Who is the present Managing Director General of Asian Development Bank (ADB)? 

(a) Okonjo-Iweala 

(b) Bikram Singh Bedi 

(c) Woochong Um 

(d) Marc Llistosella 

(e) Seiko Hashimoto 

 

Q59. What is an Adjustable-Rate Mortgages (ARMS)? 

(a) The initial interest rate is normally fixed for a period of time after which it is reset periodically, 

often every month. 

(b) It is an accounting term that refers to the process of allocating the cost of an intangible asset over a 

period of time. 

(c) Waiver of last installment of a loan for timely payment 

(d) All the above 

(e) None of the above 

 

Q60. Which of the following statements represents a ‘NOSTRO Account’? 

(a) A bank account held by a Indian bank with a foreign bank, usually in the currency of that country. 

(b) It is a financial instrument provided by banks which provides investors with a higher rate of 

interest than a regular savings account, until the given maturity date. 

(c) It is opened by those who want to save regularly for a certain period of time and earn a higher 

interest rate. 

(d) This account is opened by the investor while registering with an investment broker (or sub-

broker). 

(e) None of the above 
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Q61. Which of the following best explains a 'paid-up capital'? 

(a) The total amount of loan taken by the company. 

(b) Total initial investment. 

(c) Total annual turnover of a company. 

(d) The amount of a company’s capital that has been funded by shareholders. 

(e) The final value of total assets in possession of a company. 

 

Q62. Bhakra Nangal dam is located on the river 

(a) Chenab 

(b) Beas 

(c) Sutlej 

(d) Ravi 

(e) Krishna 

 

Q63. Name the Wrestler who has clinched gold medal in the 53kg category at the Poland Open. 

(a) Deepak Punia 

(b) Ravi Kumar Dahiya 

(c) Vinesh Phogat 

(d) Sakshi Malik 

(e) Yogeshwar Dutt 

 

Q64. Which company has recently got approval from regulator IRDAI to undertake insurance 

broking? 

(a) Policybazaar 

(b) BharatPe 

(c) Tata Digital 

(d) PayCore 

(e) Acko 

 

Q65. What is the capital of Iceland? 

(a) Glasgow 

(b) Cardiff 

(c) Dublin 

(d) Edinburgh 

(e) Reykjavík 

 

Q66. The Headquarters of The International Court of Justice (ICJ) 

is located in 

(a) Prague 

(b) Vienna 

(c) Paris 

(d) Hague 

(e) New York 
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Q67. Who has been appointed as the brand ambassador of PUMA Motorsport in India? 

(a) Yuvraj Singh 

(b) Aamir Khan 

(c) Virat Kohli 

(d) Sonu Sood 

(e) Amitabh Bachchan 

 

Q68. Which of the following e-commerce company has partnered with ‘Indian Railway Catering and 

Tourism Corporation’ (IRCTC), to provide its customers with the facility to book reserved train 

tickets? 

(a) Amazon 

(b) Alibaba 

(c) Paytm 

(d) eBay 

(e) Flipkart  

 

Q69. Bonn Convention is an international treaty, concluded under the aegis of the United Nations 

Environment Programme, concerned with the ____. 

(a) Conservation of Migratory Species 

(b) Hazardous Chemicals in International Trade 

(c) Preservation of genetic resources 

(d) Ozone depletion 

(e) Climate Change 

 

Q70. Ease of Doing Business Index is released by which of the following organizations? 

(a) World Bank 

(b) World Economic Forum  

(c) International Monetary Fund  

(d) World Trade Organization  

(e) United Nations Development Program  

 

Q71. What is the rank of India in terms of Money Deposited in Swiss Banks, according to ‘Annual 

Bank Statistics of 2020’ released by Swiss National Bank (SNB)? 

(a) 32 

(b) 51 

(c) 79 

(d) 105 

(e) 121 
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Q72. Who has been named ‘Ambassador of Forest Frontline Heroes’ at WWF India? 

(a) Upasana Kamineni 

(b) Diya Mirza 

(c) Sukhbir Singh 

(d) David Beckham 

(e) M. Nethra 
 

Q73. Who is the author of the book ‘The 7 Sins of Being A Mother’? 

(a) Neena Gupta 

(b) Anindya Dutta 

(c) Anant Vijay 

(d) Romila Thapar 

(e) Tahira Kashyap Khurrana 
 

Q74. Which country is the most peaceful country worldwide, according to the Global Peace Index 

(GPI) 2021? 

(a) Norway 

(b) Iceland 

(c) Singapore 

(d) Finland 

(e) Denmark 
 

Q75. Every year, Autistic Pride Day is observed on ________ globally. 

(a) 17 June 

(b) 18 June 

(c) 19 June 

(d) 20 June 

(e) 21 June 
 

Q76. Which bank will be the lead sponsor of National Asset Reconstruction Company Limited 

(NARCL) or bad bank with 12 per cent stake?  

(a) Bank of India 

(b) Canara Bank 

(c) Bank of Baroda 

(d) State Bank of India 

(e) Indian Overseas Bank 
 

Q77. India has decided to provide CoWIN technology to other countries What does I stands for in 

CoWIN? 

(a) Immunization 

(b) Intelligence 

(c) International 

(d) Immune 

(e) India 
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Q78. Which bank has launched ‘Pay Your Contact’ service? 

(a) HDFC Bank 

(b) Kotak Mahindra Bank 

(c) Yes Bank 

(d) ICICI Bank 

(e) Axis Bank 

 

Q79. High-level committee has been formed for consultations on the creation of integrated triservice 

theatre commands. Which committee in 2015, had recommended the creation of 3 integrated theatre 

commands? 

(a) Ranjana Prakash Desai 

(b) D B Shekatkar 

(c) Sanjiv Puri 

(d) Sujit Prasad 

(e) Biplab Sharma 

 

Q80. Where is the Headquarter of Insurance Regulatory and Development Authority of India 

(IRDAI)? 

(a) Mumbai 

(b) New Delhi 

(c) Hyderabad 

(d) Bengaluru 

(e) Pune 

 

Q81. With which country’s scientist, India is going to undertake joint research in food technology, 

plant-based medicines, metrology, space research and applications, etc.? 

(a) Russia 

(b) Bangladesh 

(c) Japan 

(d) Sri Lanka  

(e) UK 

 

Q82. Which country has topped the internet inclusion and gender equality in accessing the world 

wide web index released by Facebook-Economist Intelligence Unit (EIU)?  

(a) Sweden 

(b) United States 

(c) Spain 

(d) Australia 

(e) Hong Kong 
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Q83. Who has been chosen the ODI player of the decade for 2010s in the Wisden Almanack 2021? 

(a) M S Dhoni 

(b) Steven Smith 

(c) Virat Kohli 

(d) Rohit Sharma 

(e) Ben Stokes 

 

Q84. Who among the following has won Gold in Asian Wrestling Championship by beating Taipei’s 

Meng Hsuan Hsieh? 

(a) Deepak Punia 

(b) Ravi Kumar Dahiya 

(c) Vinesh Phogat 

(d) Sakshi Malik 

(e) Yogeshwar Dutt 

 

Q85. With which country, India has signed an agreement on Technical Cooperation titled ‘Cities 

combating plastic entering the marine environment’? 

(a) UK 

(b) Japan 

(c) Russia 

(d) USA 

(e) Germany 

 

Q86. Who has won the Emilia Romagna F1 Grand Prix 2021 in Imola, Italy? 

(a) Sebastian Vettel 

(b) Charles Leclerc 

(c) Max Verstappen 

(d) Valtteri Bottas 

(e) Lewis Hamilton 

 

Q87. Who among the following has been elected as the President of Cuba? 

(a) Raúl Castro 

(b) Miguel Díaz-Canel 

(c) Manuel Marrero Cruz 

(d) Salvador Valdés Mesa 

(e) Guillermo Lasso 

 

Q88. Which of the following Football club has won the 2021 Copa del Rey? 

(a) Manchester City 

(b) Chelsea 

(c) Liverpool 

(d) Barcelona 

(e) Real Madrid 
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Q89. Who is the head of the committee about the Asset Reconstruction Companies (ARC) set up by 

RBI?  

(a) Shyamala Gopinath 

(b) Sudarshan Sen 

(c) Jayant Kumar Dash 

(d) N S Vishwanathan 

(e) Nachiket Mor 

 

Q90. Who has become the first Indian woman to scale Mt Annapurna? 

(a) Punita Arora 

(b) Nivedita Choudhary 

(c) Usha Padhee 

(d) Priyanka Mohite 

(e) Priya Semwal 

 

Q91. What is the difference between company mission statement and the concept of strategic vision? 

(a) A mission statement includes “where we headed” whereas strategic vision includes provides the 

critical answer to “how will we get to their” 

(b) A mission statement depicts the desire to make a profit whereas strategic vision depicts what 

strategy the company will employ in trying to make a profit 

(c) A mission deals with what a company is trying to do and a vision deals with what a company 

ought to do 

(d) A mission statement identifies what a company’s products and services are and customers and 

markets it serves whereas vision statement focuses on “where are we going and why?” 

(e) All of these 

 

Q92. “The plan of action is, at one and the same time, the result envisaged, line of action to be 

followed, the stages to go through, and methods to use”. What can be the limitations of the planning? 

(a) Effective control 

(b) Higher degree of rationality 

(c) Availability of time is a limiting factor 

(d) Economy in business 

(e) Both (b) and (c) 

 

Q93. Which of the following challenges are faced by recruiters during recruitment process? 

(a) Organizational policies 

(b) Recruiter habits 

(c) Human resource plans 

(d) Process optimization challenges 

(e) All of these 
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Q94. Which of the following statements is/are true regarding human resource management? 

i. The design of a job reflects the organization, environmental, and behavioral demands placed on it. 

ii. The design of the jobs provides individual employee’s full responsibility for groups of accounts. 

iii. Poorly designed jobs not only lead to lower productivity, but also cause employee turnover, 

absenteeism, complaints, sabotage, resignations and other problems. 

iv. Organizational elements of job design are concerned with efficiency. 

Code: 

(a) i,ii,iii,iv 

(b) i,ii,iv 

(c) ii,iii,iv 

(d) only ii 

(e) only i 

 

Q95. A management information system (MIS) is a computer system consisting of hardware and 

software that serves as a backbone of an organization’s operations. What are different types of 

decisions while decision making in MIS? 

i. Programmed decisions 

ii. Programmable decisions 

iii. Semi programmed decisions 

iv. Non programmed decisions 

Code: 

(a) Only i, ii and iii 

(b) Only ii, iii and iv 

(c) Only i, iii and iv 

(d) All i, ii, iii and iv 

(e) None of these 

 

Q96. A decision tree is a decision support tool that uses tree-like model of decisions and their possible 

consequences. Decision tree in an organization- 

(a) Reduces the workload of employees 

(b) Improves organizational effectiveness 

(c) Enhances workers participation in management 

(d) Provide a framework to quantify the values of outcomes 

(e) Both (b) and (d) 

 

Q97. According to Peter F Drucker, the laws of communication are: 

(a) Communication makes demands on the recipient 

(b) Communication depends on how it is perceived by the recipient 

(c) Communication is effective when people perceive the things objectively 

(d) Communication makes a demand on the recipient to do something or to believe something 

(e) Both (a) and (b) 
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Q98. Incentive programs motivate employees to push and challenge themselves to achieve high 

degrees of productivity. Under which incentive plan the standard time for the completion of a job 

and the rate per hour is fixed? 

(a) Gantt Bonus Plan 

(b) Differential Piece Rate Plan 

(c) Rowan Plan 

(d) Emerson Efficiency Plan 

(e) None of these 

 

Q99. Motivation is an internal feeling. It is a psychological phenomenon which generates within an 

individual. Theory X of motivation includes: 

(a) The average human being prefers to be directed, wishes to avoid responsibilities and has 

relatively little ambition. 

(b) The capacity for developing and utilizing their capacities, knowledge and skill does exist in 

people 

(c) Human beings are inherently lazy and will shun work and therefore must be coerced 

(d) Man will exercise self-control in those spheres where the objectives tally with his own 

(e) Both (a) and (c) 

 

Q100. Matrix organization is one in which people are responsible to more than one person. The 

advantages of matrix organization is: 

(a) Allows interdepartmental communication 

(b) Employees can develop new skills 

(c) Ease in measuring employee’s performance 

(d) Both (a) and (b) 

(e) All of the above 

 

Q101. Who laid down the foundations of ‘behavioral theory of organization?’ 

(a) Structural experiments, Gullick 

(b) Bethlehem steel corporations, Mooney 

(c) The long well coal mining study 

(d) The Hawthorne experiments, Mayo 

(e) None of the above 

 

Q102. The philosophy that denotes stabilised set of values which people try to adhere to generally 

because such values are favoured by its management is called as: 

(a) Management strategy 

(b) Organisational culture 

(c) Organisational policies 

(d) Organisational behaviour 

(e) Organisational development 
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Q103. Organisation is an organised group of people with a particular purpose, such as business or 

government department. What are the factors that can became detrimental of an organisation and 

make it degenerate? 

(a) Need for re-organisation 

(b) Lack of conflict resolution 

(c) Lack of delegation of power 

(d) Lack of business growth 

(e) All of these 

 

Q104. Which organisational tool introduces organisation’s business, history, objectives, policies, rules 

and regulations and information on persons working along with organisation chart in written form? 

(a) Organisation chart 

(b) Organisation performance audit 

(c) Organisation manual 

(d) Position description 

(e) Organisation policies 

 

Q105. Planning and controlling are interdependent of each other. Which type of control anticipates 

the deficiencies to start an activity and correct those at initial stage so that progress is not hampered 

because of lack of inputs needed?  

(a) Real time control 

(b) Feed forward control 

(c) Feed backward control 

(d) Automation in control 

(e) Preventive control 

 

Q106. Control techniques provides managers with type and amount of information they need to 

measure and monitor performance. Which control technique help managers with objective view of 

outsiders who are not a part of organisational framework and assist it from outside? 

(a) Activities network control 

(b) Social control 

(c) Systems and procedures 

(d) Management by inspection 

(e) None of these 

 

Q107. Under which management style leaders explain their goals 

and reasons behind them, convincing their team to work towards 

executing their vision? 

(a) Delegative management style 

(b) Visionary management style 

(c) Coaching management style 

(d) Transformational management style 

(e) None of these 
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Q108. Social responsibility is defined as the obligation and commitment of managers to take steps for 

protecting and improving society’s welfare along with their own interest. What is the classical view 

of management’s social responsibility? 

(a) To protect and improve society’s welfare 

(b) To minimise profits 

(c) To create specific environment in workplace 

(d) Only (a) and (b) 

(e) All of these 

 

Q109. The lack of faith and confidence of managers in subordinate is an important barrier of: 

(a) Effective leadership 

(b) Effective delegation 

(c) Effective control 

(d) Effective coordination 

(e) Effective direction 

 

Q110. Certain tests seek to measure the psychological characteristics of individual applicants for a 

position. Under which psychologist test individual’s capacity to use his fingers and hands in 

industrial work is determined? 

(a) Personality tests 

(b) Exterity tests 

(c) Interest tests 

(d) Physical test 

(e) None of the above 

 

Q111. Which theory of decision making thrusts on the maximisation of customer’s satisfaction. Here 

manager acts as an “administrative man” rather than “economic man”? 

(a) Marginal theory 

(b) Psychological theory 

(c) Mathematical theory 

(d) Profit maximisation theory 

(e) None of these 

 

Q112. Which managerial process is the end product because it is preceded by discussions and 

deliberations and involves certain commitment? 

(a) Controlling 

(b) Planning 

(c) Decision making 

(d) Staffing 

(e) Directing 
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Q113. Organisational Development is concerned with facilitating change in organisations through a 

holistic and human approach. Which of the following is/are the characteristics of organisational 

development? 

(a) The application of behavioural science knowledge and practice to facilitate transformation within 

an organisation 

(b) The promotion of high productivity, performance, quality products, financial performance and 

continuous improvement 

(c) Changes to the structure, culture, strategy and processes of an individual job through an entire 

organisation 

(d) Both (a) and (c) 

(e) All of these 

 

Q114. Mc Gehee and Thayer recommended which of the following three different approaches to 

determine the training needs? 

(a) Assets, organisational and individual analysis  

(b) Organisational, inventory and individual analysis 

(c) Individual, organisational and operational analysis 

(d) Inventory, individual and operational analysis 

(e) Organisational, technical and individual analysis 

 

Q115. A personnel management focuses on hiring and developing employees to become more 

valuable to the company. What are the operative functions of personnel managers? 

(a) Collective bargaining function 

(b) Promotion, transfer and termination function 

(c) Wages and salary administration 

(d) Both (a) and (b) 

(e) All of these 

 

Q116. At present, which of the following schemes of worker’s participation are prevalent in 

management in India? 

(a) Joint management councils 

(b) Shop councils 

(c) Plant councils 

(d) Participation through quality circles 

(e) All of the above 

 

Q117. Which of the following is included in the procedure of organisational structure? 

(a) Economic factors 

(b) Political factors 

(c) Legal factors 

(d) External environment 

(e) Social factors 

 



27 
Adda247 | No. 1 APP for Banking & SSC Preparation 

Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

Q118. Which of the following factors is/are not important of job analysis? 
(a) Employment of employees 
(b) Organisation audit 
(c) Performance appraisal 
(d) Promotion and transfer 
(e) All of the above 
 
Q119. “Business ethics is a dynamic philosophy of socio-economic adjustments whose field is 
widening day by day”. Which of the following is not the principle of business ethics? 
(a) Principle of universality 
(b) Principle of humanity 
(c) Principle of autonomy 
(d) Principle of dissatisfaction 
(e) All of these are the principles of business ethics 
 
Q120. What are the different areas where business ethics can be applied? 
(a) Labour and social welfare 
(b) Dealing systems 
(c) Social interest 
(d) Distribution of national wealth 
(e) All of these 
 
Q121. Suppose Mr Z is a director at a PSU in India, he sits on the interview panel that is scheduled to 
interview Miss X who is her niece, who has qualified the written examination for a job at that PSU. 
Which of the following ethical issues are applies to Mr Z? 
(a) Nepotism 

(b) Corruption 
(c) Conflict of interest 
(d) Ethical breach 
(e) Embezzlement 
 
Q122. Which of the following is true about the ethical theory of consequentialism? 
(a) It is an evaluation of an ideal type- the way world is ought to be 
(b) It is an evaluation of outcome or states- the way world might be 
(c) It is an evaluation of motives of the person’s acting 
(d) It is an evaluation of the means that a person acts through 
(e) All of the above 
 

Q123. Which of the following concept of ethics applies to collective social responsibility of the 
profession and to societal decisions about the technology? 
(a) Meta ethics 
(b) Micro ethics 
(c) Normative ethics 
(d) Virtue ethics 
(e) None of these 
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Q124. Which of the following is/are the true description of business ethics in an organisation? 

(a) Business ethics is both normative and descriptive 

(b) Business ethics is a meta ethics exercise 

(c) Business ethics evaluates role of government, law and public policy in affecting the business 

(d) Both (a) and (b) 

(e) Both (a) and (c) 

 

Q125. Identify the school of ethics which are concerned with the consequences of the actions and 

holds that basic standard of morality is precisely the value of what an action brings into being? 

(a) Deontological 

(b) Teological 

(c) Ethical relativism 

(d) Ethical realism 

(e) Utilitarianism 

 

Q126. Corporate Governance is the combination of rules, processes or laws by which businesses are 

regulated. What does the corporate governance structure of the company reflect the individual 

companies? 

(a) Cultural and economic system 

(b) Legal and business system 

(c) Social and regulatory system 

(d) Both (b) and (c) 

(e) All of these 

 

Q127. The corporate governance represents the value framework, the ethical framework and the 

moral framework under which business decisions are taken. What is the goal of corporate 

governance and business ethics education? 

(a) To change the way in which ethics is taught to students 

(b) To increase the workload for accounting students 

(c) To create more ethics standards  

(d) To teach students their professional accountability and to uphold their personal integrity to 

society 

(e) All of the above 

 

Q128. What are the reasons by which business ethics training programs can become more successful? 

(a) Focus on personal opinions of employees 

(b) Educate employees about ethical frameworks and models of ethical decision making 

(c) Promote the use of emotions in making tough ethical decisions 

(d) Training programs limited to only upper executives 

(e) Both (b) and (c) 
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Q129. Corporate Governance is carried out in accordance with the company’s corporate governance 

code. Which of the following is not one of the principles of the corporate governance combined code 

of practice? 

(a) Fairness  

(b) Accountability 

(c) Acceptability  

(d) Responsibility  

(e) Transparency  

 

Q130. Value education is the process by which people give moral values to each other. What is the 

need for value education for human well-being? 

(a) It understand our needs and visualize our goals correctly 

(b) Values form the basis for all our thoughts, behaviours and actions 

(c) It fulfils our aspirations both values and skills  

(d) It evaluates our beliefs and assumed values 

(e) all of the above 

 

Q131. What is the relationship between social responsibility and legal responsibility? 

(a) Social responsibility is same as legal responsibility 

(b) Social responsibility is a broader term than legal responsibility 

(c) Social responsibility is narrower than legal responsibility 

(d) Social responsibility and legal responsibility are not related to each other 

(e) None of these 

 

Q132. The moral theory of Aristotle, like that of Plato, focuses on virtue, recommended that virtuous 

way of life is by its relation to happiness. According to Aristotle, how should we begin the ethical 

enquiry? 

(a) By specifying which things are intrinsically valuable 

(b) By specifying the aim of human life 

(c) By specifying what our fundamental duties are 

(d) By specifying what constraints on behaviour is reasonable 

(e) All of these 

 

Q133. Which of the following terms is considered as unsubstantiated claim to deceive consumers into 

believing that company’s products and policies are environment friendly? 

(a) Customer centrism 

(b) Green washing 

(c) Brainstorming 

(d) Green policy 

(e) Both (b) and (d) 
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Q134. According to Aristotle’s theory, virtues are divided into: 

(a) Natural virtues and artificial virtues 

(b) Moral virtues and intellectual virtues 

(c) Positive and negative virtues 

(d) Human virtues and divine virtues 

(e) Good virtues and bad virtues 
 

Q135. Which form of ethics governs the behaviour of a person or group in a business environment? It 

endeavours to help professionals decide what to do when they are confronted with a situation that 

raises an ethical question? 

(a) Ethical climate 

(b) Professional ethics 

(c) Business ethics 

(d) Organisational ethics 

(e) Ethical behaviour 
 

Q136. Drip irrigation introduced by which country 

(a) Japan 

(b) China 

(c) Israel 

(d) USA 

(e) None of these 
 

Q137. Specific gravity of soil measured by 

(a) Peizometer 

(b) Pycnometer 

(c) Manometer 

(d) Potometer 

(e) None of these 
 

Q138. Imaginary lines connecting points of equal water table elevations is called 

(a) Isotech 

(b) Isostere 

(c) Isobaths 

(d) Isodemic 

(e) None of these 
 

Q139. System of cropping in which long and narrow strips of erosion resisting crops are alternated 

with strips of erosion permitting crops is called 

(a) Contour cropping 

(b) Mulching 

(c) Strip cropping 

(d) Graded bunding 

(e) None of these 
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Q140. Cultivation of crops in areas where annuals rainfall is more 

than 750 mm but less than 1150 mm is called  

(a) Dry farming 

(b) Dry land faming 

(c) Rainfed farming 

(d) Contour faming 

(e) None of these 

 

Q141. Cropping system means 

(a) In crop rotation land is fixed but crop rotated year after year 

on same land 

(b) After cultivation of cereals should be taken pulse crop in next year 

(c) In refers to the cropping patterns used on a farm and their interaction with farm resources, 

associated farm enterprises and the available component technology 

(d) It maintain and improves soil fertility in soil 

(e) None of these 

 

Q142. Zero tillage firstly is given by 

(a) Aurthor Young 

(b) Peter Decresenzi 

(c) Edward Faulkner 

(d) Watson 

(e) None of these 

 

Q143. What is the full form SRI 

(a) System of Rice Infestation  

(b) System of Rice Intensification  

(c) System of Rice Improvement 

(d) System of Rice Increase 

(e) None of these 

 

Q144. Origin place of Rice 

(a) South East Asia (Burma) 

(b) South West Asia 

(c) India 

(d) Brazil 

(e) None of these 
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Q145. Carbon content in organic matter 

(a) 60% 

(b) 75% 

(c) 61% 

(d) 58% 

(e) None of these 

 

Q146. Nitrogen bio-fertilizer used for wheat 

(a) Azospirillum 

(b) Azatobactor 

(c) Rizobium 

(d) PSB 

(e) None of these 

 

Q147. Most prominent soil group in India 

(a) Black Soil 

(b) Red Soil 

(c) Alluvial Soil 

(d) Loam soil 

(e) None of these 

 

Q148. Indian soils are mainly deficient of  

(a) Zinc 

(b) Calcium 

(c) Nitrogen 

(d) Copper 

(e) None of these 

 

Q149. The irrigation method which is suitable for saline soil 

(a) Sprinkler Irrigation 

(b) Drip Irrigation 

(c) Flood Irrigation 

(d) Surge Irrigation 

(e) None of these 

 

Q150. Sowing pattern used in dry land  

(a) Line sowing 

(b) Broadcasting method 

(c) Drilling 

(d) Transplanting 

(e) None of these 
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Q151. Crop growing for conserve soil moisture known as  

(a) Cash crops 

(b) Catch crops 

(c) Mulch crops 

(d) Stimulate crops 

(e) None of these 

 

Q152. Kings of coarse grains 

(a) Bajra 

(b) Jower 

(c) Ragi 

(d) Kodo 

(e) None of these 

 

Q153. Bench terracing usually practiced on slopes ranging from 

(a) Less than 2  

(b) 16-33 

(c) 40-60 

(d) 10-15 

(e) None of these 

 

Q154. Nursery area required for seedling of rice one hectare filed is  

(a) 0.10 

(b) 0.20 

(c) 0.05 

(d) 0.15 

(e) None of these 

 

Q155. According to planning commission India has divided into ……………agro climatic zones. 

(a) 21 

(b) 131 

(c) 15 

(d) 10 

(e) None of these 

 

Q156. As a situation occurring in any area in a year when annual rainfall is less than…….% of the 

normal is known as drought. 

(a) 80 

(b) 75 

(c) 50 

(d) 55 

(e) None of these 
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Q157. What is contour cultivation? 

(a) Any material applied on the soil surface to check evaporation and improve soil water. 

(b) Cultivation of crops by sowing/ploughing across the soil. 

(c) System of cultivation in which long and narrow strips of erosion. 

(d) Adopt to supplement the agronomical practices and when land slope is more than 2%. 

(e) None of these 

 

Q158. Which measures are uses in India for soil conservation? 

(a) Contour 

(b) Graded bunding 

(c) Strip cropping 

(d) All of the above 

(e) None of these 

 

Q159. Which monsoon around >75% of total rainfall in India? 

(a) South-West Monsoon 

(b) North – East Monsoon 

(c) East – West Monsoon 

(d) Both a and b 

(e) None of these 

 

Q160. Global warming caused by  

(a) GHGs 

(b) CFCs 

(c) CH4 

(d) NO2 

(e) None of these 

 

Q161. Boron, Zinc and Manganese are usually referred to as 

(a) Macronutrients 

(b) Micronutrients 

(c) Soil Vitamins 

(d) Soil Decomposer 

(e) None of these 

 

Q162. Green house effect is caused by 

(a) Increase in Co2 

(b) Increase in O2 

(c) Decrease in O2 

(d) Decrease in Co2 

(e) None of these 
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Q163. Soil pollution is caused by 

(a) Acid rain  

(b) Aerosol 

(c) Ozone 

(d) PAN 

(e) None of these 

 

Q164. Salinzation is …………… 

(a) Accumulation of salts in water 

(b) Accumulation of salts in soil 

(c) Accumulation of salts in body 

(d) Accumulation of salts in animals 

(e) None of these 

 

Q165. Which of following enhances soil fertility? 

(a) Crop rotation 

(b) Improved methods of agriculture  

(c) Irrigation 

(d) Improved varieties  

(e) None of these 

 

Q166. Which species is known as Azadirachta Indica? 

(a) Sugarcane 

(b) Neem 

(c) Mango 

(d) Jute 

(e) None of these 

 

Q167. Which plant die after flowering? 

(a) Ber 

(b) Bamboo 

(c) Butea 

(d) Chrysanthemum 

(e) None of these 

 

Q168. World Earth Day official date is on 

(a) April 20 

(b) April 22 

(c) May 20 

(d) May 22 

(e) None of these 
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Q169. What is meant by GM foods? 

(a) Generally Modified foods 

(b) Genetically Modified foods 

(c) Genetically Modern foods 

(d) Genetically Model foods 

(e) None of these 

 

Q170. Rain water harvesting is a major method of  

(a) Water conservation  

(b) Soil conservation 

(c) Crop improvement 

(d) Soil fertility 

(e) None of these 

 

Q171. Triticale is cross between- 

(a) Wheat and Rye 

(b) Oat and Barley 

(c) Wheat and Barley 

(d) Wheat and Rice 

(e) None of these 

 

Q172. Which crop is called “Queen of cereal”. 

(a) Rice 

(b) Wheat 

(c) Maize 

(d) Barley 

(e) None of these 

 

Q173. The pH value varies from 

(a) 7.00 – 14.00 

(b) 10.00 – 14.00 

(c) 0.00 – 14.00 

(d) 0.01 – 14.00 

(e) None of these 

 

Q174. Khaira disease of rice is caused by. 

(a) Zinc deficiency 

(b) Boron deficiency 

(c) Nitrogen deficiency 

(d) Calcium deficiency 

(e) None of these 
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Q175. Soil pH> 8.5 indicates soil is  

(a) Alkaline 

(b) Acidic 

(c) Neutral 

(d) Sodic soil 

(e) None of these 

 

Q176. Moving a paragraph in MS-word from one place to another can be done by which of the 

following actions? 

(a) Select, copy  

(b) Select all, cut  

(c) Select, cut and paste  

(d) Select, design  

(e) None of these 

 

Q177. What is the default file extension for all Word documents?  

(a) WRD 

(b) TXT 

(c) DOC  

(d) FIL  

(e) None of these 

 

Q178. Which of the following number systems is considered as a base-10 number system? 

(a) Decimal number system 

(b) Binary number system 

(c) Octal number system 

(d) Hexadecimal number system 

(e) None of these 

 

Q179. What type of web technology creates an online community where people can make statements 

and others can read and respond to those statements? 

(a) I-Journal  

(b) Podcast 

(c) ASP  

(d) Blog  

(e) None of the above 

 

Q180. What is the full form of SIM? 

(a) Station Identity Module 

(b) System Identity Module 

(c) Subscriber Identity Module 

(d) Subscriber Trunk Dialing 

(e) None of these 
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